NO. 1

GH=191.71
FH=

D=4.93

(RRARS)
>

19051 NO. 2

[&£ T ]

DL=190.00

. o X % B oA K
B : IRAHE R4 TE (2 TK) (EWEIE)
2 \iEEHERTEB  (1/2)
i & RIAE=FARTIRA M A
’ R | 100 | # o | oW
* EEARE) g 5 £ 11 EHFoOR 2
— 470 6 FEMT B R R
oL=190.00 E-2s 8- PHREEERELERRE

KERIZAMENHERT




DL=190. 00

NO. 3

GH=193. 33
Fh=

[&# T ]

ROA B K

IRAMREIRAILTE(2TX) (EFHIE)

gt ER  (2/2)

RIEE=HETRA A

A |

1:100 ‘é m\ M

Jo

£ 11 FEhow 3

ﬂb = N} EF X

6 FEMET 5 HmR

TEHRAEBERRLERD

HERIGAIE N ERT




EmRADYHBTIRAR

S=1:150

“;fb% o

242. 60

a(m) b (m) c(m s (m) ST (m2)

O] 1.4 7.0 8.2 8.3 273
@ 6.4 8.2 12.0 13.3 24.67
® 9.5 12.0 20.9 21.2 26.16
@ 20.9 24.2 31.3 38.2 252. 66
® 31.3 8.4 24.6 32.2 72. 40
® 24.6 19.5 16.7 30.4 162. 26
0] 16.7 7.8 15.7 20.1 60.82
15.7 21.8 19.4 28.5 149. 14
© 19.4 6.8 14.6 20.4 40. 11
14.6 9.5 16.9 20.5 69. 21
@ 16.9 13.7 16.6 23.6 104. 68
@ 12.3 13.7 5.8 15.9 35. 66
@ 16.6 13.8 7.4 18.9 50.49

&&t| 1050.99 m2

2
§ =./s(s-a) (s-b) (s¢)

B
>

B.
R

[ & T ]

R B R A # K

WAHRXEIRALTE(2TK) (EFHIE)

B % | @eReoynIENR
& B {EE = SR A A
# R =& | M
B S| & 1l Zhow 4

HH 6 FEKT S HmR
TEHRAEBEMRLERD

HEREAEABFERS

DL=190. 00




EERRK

HRRADY R THEER

(B3R

E3ikal

350

1150

#14 50x50

#ASLH

$=1:30
#ASTH
W330H190L400
350 1150 350 1150 350 1150 W7 > h— ()
‘ ‘ ‘ ‘ ‘ ‘ D10 L=400
| | |
| - | |
| [~ | | 5 r
T |
| - | |
o
2 ‘ [e ‘ 8] ‘
| | | o s
r 1 1 §I I
| | | S "
] | i
| | |
| | |
I | | ' i
g | | |
| | | %
J/ ‘ ‘ 7 | |
\’
T T T
HEE B
t=5em L 1500 J 1500 J 1500 J L ER

B W |

$=1:10
A-AlfE B-Bi#rE
ELZ RS
WENT o h— (k) ELZ LR
D10 L=400 £ D13
WyeR %5 D13
HEAE SR AT il S R A
t=5cm t=bcm
o o
] g ] g
- 8 - 8
\\§Mﬁﬁ L 350 J \\iwﬁm
#14 50x50 #1450 x50

1150 350 ‘

350

W330H190L400

$%85 DI3

—h FTFUH— (R

1150

350

D16 L=750

A

$=1:10

PPk |

FEEERX

$=1:20

E7N—(RR)
D16 L=750

HEE R MR
t=bem

fERMH* 100022 Y 1051, 0n224 )
#OH 4 # ## LA ¥ 2
B3 1 1#14 50 % 50 m2 100 1051.0
FUh—EY ¢ 16 L=400 (£REE ) * 30 316
HWHTFTN—EL $9 L=200 (&HEEM) x 150 1,517
&5 013 kg | 573.59 6,028.4
EFUN— (ER) D16 L=750 X 52 547
WBT o h— () DI0 L=400 E 51 536
g W=330 H=190 L=400 @ 94 988
hEE OPrE % 51 536
BRY— b 15007 | 423 444.6
st (%) B=350 H=200 m3 | 5.87 61.69
flE Ao t=5em m2 | 55.9 587.5
- B [
IS ERAR
$=1:10
/fgﬁ\m o //
/ \ .
LN\ //\\Qs s
<
L 330 J )
400 - \
{ “ L 330 J [ # T ]
X £ W’ OA #H X

IRAMREIRAILTE (2T X) (EFHIE)

B & |MHRHOYHATEER (S50
@ B {80 = ST A A

" R | 8 | vm

B 5| & 11 ZROW 5

SF 6 EEMT B WA

TEHREEBERRLERD

HERIGAIE N ERT




SN
QM_’Q\

2
AT
A B _jﬂ!ﬁ/
ﬁ/;_,é-,:g.- Pyell

ey

L

y

N
11 ,ﬁ
(" o
) D.

%
I

MR IFHHER

s S
L —
195.00 BRAKS
n \
_ — g
=
190. 00
& —
. N
1:125
DL=185. 00
< I=1/ -]
B wTEA®l e Ty =1/4.5 [ &
& B A B 4 R © T by I
AR 8/ tir 5, &
1 I 1 I I
B3R A B 6 &
T T T T
. ; - 8 8 2
it OE TR S o P 5
T T T T T
BRAK S 3 o P : -
S 2 2 = 5
T T T T T
wo®® 2 “ x 5 :
1 I 1 I I
3 > & > e
& omoBE B g 2 @ IS 8
T I T I I
- - - = -
B g M £ ® 8 = 8
1 I 1 I T
3 2
3 ~ g z z s s
=3 w ~ —_ e

NO. 2358

A Z# BBOOH500L2000 (1000)
FIEH 15~20cm

BEEHE K

$=1:50

_5.0uEE

(BRAR =)

BEERYIFLUE 9400
CUTLE

Rt B Ak #1

MEHRERRMAE

$=1:75
0B
195.01
194,51
‘ ‘ 194.01
S l l 193.51
192,51 - ma | | 192.51
192.01 l wa/[~ — | me l | |
BEAR 191.51 [ ] | |m 3 | 191.51
191.01 | ‘ 191 4z/| o
10051 | 190. 51
0.84 4.05 3.59 1.62 ‘
0.77) @79 NO. 2 3.31) BC (1.62) NO.1 ()b E L=70. Om (35. Om2)
NO.3 BBOOH500L2000 | 304%
DLo188.00 | BBOOHS00LI000 | 104 |
MNCHRSER
[ & T ]
X 4 R OA # K
AR E IR AL TS (2TX) (EH#HIE)
M & MR IR
& RIBA=FETRAH N
R |B A | # @] W
B &5 | £ 11 EPOR 6
S 6 EEKEI BWE

TEHRAEBERRLERD

HERIGAIE N ERT




A TR I REER

(BER)
F @ 1 W E
§=1:125 $=1:100

10454

e

/Cﬁ%d@
TR
LA

DL=190. 00

(BRARE) o
3
191. 61 -

DL=190. 00

[&# T ]
X £ W’ OA H#H X

(R R ATBR80)
190. 51

2.50

0.91 1.59

IRAMREIRAILTE(2TX) (EFHIE)

B & | ACRIRSE (SEE
@ B {80 = ST A A

# R & | M
B8 | & 1l 2hoR 7

SF 6 EEMT B WA

TEHRAEBERRLERD

HERIGAIE N ERT




N
l?é 2108

MR LT RHEFEE

% W |
$=1:100
- +18.0 +36. 7
:’#z’”.‘-.« GH=185. 00 GH=191.30
Fh= FH=191.30
[
|
\A/
‘ FE)
‘ €=02
DL=183.00 DL=190. 00 ‘ c=07
+11.5 +32.1
GH=183.73 GH=190. 47
Fh= FH=
[
|
fit o | s
$=1:200 183. 65
| L)
205. 00 ‘ o-08
: ‘ c=23
200. 00 x a %ﬂ'g ﬁ"f DL=180.00 DL=188.00
195. 00 | ; ERAEREBME .
] +4.5 +24.3
R \ 190.5 GH=182.72 GH=186.98
Fh= FH=
190.00 20 B
| \
185. 00 018 ‘ |
i n 182.39
= Ex7) _ 186. 86
g 180.00 - 1w
> B €=03
1/200 ] 0L=180.00 DL=185.00
DL=175.00
12818
HEARDE Q S §>
= H=0 755 > .
IR R AR A R
1 1 1 1 1 I 1 1 ( E I ]
e
& s g g X 4 R OA # K
1 1 1 1 1 I 1 1
3 - S g = 8 8 8 2 2
2 Aar® : : s z 5 IRAHR A B4 TS (2TX) (EHHIE)
T T T T T T T T
oo B Z g ; g ; g ; ; M & SRR T IR AR
R R : : : : B | REB=SHERASN
s pE T mrlanjen] v
- : : = = : : B 5| 2 1l ZhOR 8
! ! ! ! ! ! ! ! w6 FEET BWE
p:l = N ° ° s @ - -
A - : : : : A A B R BB

HERIGAIE N ERT




0=20. 00

NO. 1

GH=153. 23
FH=153. 35

DL=150. 00

D=13.00

NO. 0+7. 00

GH=153. 16
FH=153. 60

3.00

DL=150. 00

=7

BP (NO. 0)

GH=153. 41
FH=153. 41

(3.00)

-- WEEm

b emas

DL=150. 00

0=15.57

D=8.48

NO. 3

GH=156.13
FH=156.17

DL=150. 00

©o
~o

D=11.28

11.52

D=

EC.3

GH=154. 35
FH=154.03

DL=150. 00

D=8

DL=150. 00

Rl g

D=4.43

NO. 2

GH=153. 26
FH=153.70

3.00

EC.6

GH=161.90
FH=162.17

3.00

DL=155. 00

NO. 4

GH=159. 79
FH=159.98

S wwasm

DL=155. 00

BC.5

GH=158.97
FH=159.13

3.00

b wmEs

DL=155. 00

D=11.00

0=9.00

NO. 5+9. 00

GH=164.35
FH=165. 33

3.00

c=42
B -
DL=160.00
NO. 5
GH=163.27
FH=163.71
3.00
| i
E it
5 5
A #
e~
i | ' c=13
B -
DL=160.00
[#£ T 1]
X 4 R OA # K

AR EIRALTE (2TX) (EFHIE)

B £ Ly ] (1/3)
@ HAE = SETIRA A
® R | 1:100 ‘ B o \ M

£ £ 11 EhoRW 9
S 6 FEERET 5 HmR
TEHRAEBERRLERD

HERIGAIE N ERT

Jo




20.00

D:

D=11.45

8.55

D:

7.40

: NO. 12
iy L GH=181.79
NO. 7 NO. 9 NO. 11 free o7
GH=170. 53 GH=174.30 GH=179.30 5
FH=170.91 Fi174.39 Fi-180. 36 5
5
3.00
(H@ LB, REE15)
T
c=02
B=17
DL=165.00 DL=170.00 DL=175.00 DL=175.00
NO. 8+13. 20 ;
oHe172.15
FH=173.37
z _EC.13
3.00 E GH=180. 29
Fi-181. 42
EC.7 BC. 12
GH=168. 59 GH=179.48
Fi-168. 85 Fi-178.93
3.00
i &
C=53 15
Fa 5
‘ I
€=6.3
B=01
DL=165.00 DL=165.00 DL=175.00 DL=175.00
g HEELD S REAR
S=1:150
NO. 6 NO. 8 .
GH=166. 64 GH=171.58 M 0 o © R
FH=167.31 FH=171.67 &
3.00
3.00 NO. 10
179,31
‘ FH=171.37
a i
— T “F#; T - f
Hokoad ‘ ‘ aoo? - L=15. 60m (& T 1]
i X £ R A # K
IRAHXEIFALTE(2TX) (EH#HIE)
B 4 W om R (2/3)
i & FAEB=FARTIR A Hh A
DL=160.00 DL=165.00 DL=175.00 R 1:100 ‘ B ‘ M
B =5 £ 11 EHhom 10
«F FEET BEmE
FEHREEBEMRELIEER

HERIGAIE N ERT




0=10.34

SP. 15

GH=185. 51
FH=184.27

c=
B=

wo

DL=180. 00

D=9,

NO. 13

GH=184.34
FH=183.44

x
NO. 15
GH=184.19
FH=186.45
DL=180.00

ECBC17

GH=183. 64
FH=184.32

DL=180. 00

D=12.60

NO. 12+7. 40

GH=183. 84
FH=182. 36

(B LG, RIE E35)

DL=180. 00

DL=180.00

0=10. 61

NO. 14

GH=187.61
FH=185.16

3.00

DL=180.00

DL=185. 00

EP (NO. 15+13. 85)

GH=189. 79
FH=190. 55

[ & T ]

R B

ROA B K

AR EIRALTE (2TX) (EFHIE)

B £ W E R G0
m o® BB = AT IR AN
R | 1100 | o | M
B2 | 2 1l Zhom 11

S 6 HEEI B &

TEHRAEBERRLERD

HERIGAIE N ERT




